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) KR : ZET88 ~11.9 C, [KE T 9.8 ~11.6 COFAICH >,

) iy FKET 33.3 ~ 34.1, r“)zf 33.9 ~34.1 OFAIZH - 7=,

) pH : 811 ~ 818 OHFPHIZH YV, B TKERAKILURE (7.8 ~8.4) Ziii/- L T,

) COD : 0.1 Kiifi~2.2 mg/L @%ﬁi:zﬁ; v, St.5b KERDJENE CT/KEMKIERE (FASMENTE : 2 mg/L
PIF) Ziil=LCW\Wiphhotz,
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5) DO : 7.8~10.1 mg/LOFHIZH YV, 4 C/KREMHKIEE (6.0 mg/LLL L) Zifi/z L T\,
6) HEMCREE  SAHEB UL T OHFEMNICH -T2,
U UEEREY v (POsP) : 4.4 ~ 15.5 ug/L
7 oE=THEFHE (NHoN) : 0.6 ~ 14.6 ug/LL
e REZE 3 (NO2-N) : 0.4 ~ 2.4 pg/L
fiffeie=% (NOs-N) : 33.9 ~ 121.0 pg/LL
(ZHEZEH X 41.4 ~ 137.3 pg/L)
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